Series EF1GH/1 SET~2

.................................................. 77T HS
o s T 67/1/2
Roll No. el ST g ST %'
: 1@-98 W awd ford |
] Candidates must write the Q.P. Code on
the title page of the answer-book. :
~
ALERNHA
ACCOUNTANCY
®
fRefRa @ : 3 o2 STferaT 3% 80§
: Time allowed : 3 hours Maximum Marks : 80
: 712 / NOTE

E(i) FTT 57re FT & 35 §F 7957 g H Figa g5 39 & /

Please check that this question paper contains 39 printed pages.

E(ii) o9 g H Fligal §T€ @1 301 130 10 "9 uF Fis bl gligrel] 3u3 gixieer as-
: T g3 0= o |

Q.P. Code given on the right hand side of the question paper should be written on the t/tle
: page of the answer-book by the candidate.
(i) gpoT ST &2 & 135 87 T U 7 34 9T & /

Please check that this question paper contains 34 questions.

é(iV) FUAT T BT 32 ferRaeir Y= HIa A uFe, mgﬁ%aﬂ#neaaﬂmwea'
: fered 1 :
Please write down the serial number of the question in the answer-book before attempt/ng:
: it.
i(v) 5 momud @) UG & 0 15 fAeie BT FEY 1391 7T § | Tt U T [AeRUT:
gaﬁ;'#wﬁ g5 1a5ar SmmeeT [ 10.15 &5 F 10.30 as?aaswsréa?aﬂsaasraﬁ'

ggal 37T §F 3rafer @& §IkreT 3 362 GiFrasT U i Iu2 a7g] ezl |

15 minute time has been allotted to read this question paper. The question paper will be§
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the:
question paper only and will not write any answer on the answer-book during this period.



1T 3397 :

FHETfTRET 145911 %1 S5d GIae1 & qIgT 37K 37T ] & 9 BT :

(i) 39 5v7-97 4 84 397 & | @t yo7 fAard & |

(ii) T8 Y¥7-97 g 9T 7 [F97/5a & — 90T & TG A @ |

(iii) 9T & T Wi & forg srfanrd & |

(iv) 9T & 4 3 [@d%ey 8 79iq — (1) AT [Qawon &7 favayer, aoar (2) 3wl
AGIHT | T B YT @ T TG [T F SFER FIT U & [T & Jel @
I forad & 1

(v) T97G&IT1 T 16 TIT27 T 30 TF Uh—Teh 37% & Yo7 & |

(vi) ¥97 &7 17 & 20, 31 747 32 7% AIT—dAT 37H & J97 8 /

(vii) 597 G&I7 21, 22 G971 33 7% AR-TR 3% & T & |

(viii) 77 G&IT 23 G 26 TIT 34 T T:—T: 3H & o7& |

(ix) ¥¥7-Y7 § GoF fdeeq 787 a7 77 8 | I, vb-ves 37 & 7 yo91 4, dta-aiT
3Hl & 2 oA H, AR-TARN IH & 1 J97 § 797 B:-D: JHl & 2 o1 7 aks
[aheq T =97 1397 7197 & |

WAl 6
(\TSe Wt quT St o ot SaeT)

Feferfaa Freqi4e Tfd &1 9ieT aor 399 &1 T8 a1 & YR | 397 &1 1 797
2 & I T :
ShicrdT, |fedT ddm 7Y Teh BH H Areigr off do1 IRt IS AR T 6,00,000,
T 4,00,000 AT T 2,00,000 i | ISt W 10% TNH X & S & o 9991q.
AT o7 Taare 9 Jeer 4 o
W%l‘cﬂé‘nm, gfera % AT qAT 7Y % YT | hiddl 4 SARTd €9 & TR &
5 @t # |foar &1 9 IS W AN I9IRG B ok 9vEr fRET oft a9 |
T 1,00,000 § 7 7 BT |

ot W SIS YeM % ¥ qd 31 A6, 2022 I GEH BN d 9§ H oy
Z 3,00,000 T |

67/1/2 ~ v~~~ Page 2



General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper is divided into two parts — Part A and Part B.

(iti) Part A is compulsory for all candidates.

(iv) Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given
options as per the subject opted in Part B.

(v) Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
(vi) Questions no. 17 to 20, 31 and 32 carry 3 marks each.
(vii) Questions no. 21, 22 and 33 carry 4 marks each.

(viii) Questions no. 23 to 26 and 34 carry 6 marks each.

(ix)  There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks
and 2 questions of six marks.

PART A
(Accounting for Partnership Firms and Companies)
Read the following hypothetical situation and answer questions number
1 and 2 on the basis of the given information :
Kavita, Savita and Madhu were partners in a firm with capitals of
T 6,00,000, ¥ 4,00,000 and ¥ 2,00,000 respectively. After providing
interest on capital @ 10% p.a., the profits are divisible as follows :
Kavita %, Savita % and Madhu % Kavita personally guaranteed that
Savita’s share of profit after charging interest on capital would not be
less than ¥ 1,00,000 in any year.
The profit for the year ending 315' March, 2022 amounted to ¥ 3,00,000

before providing interest on capital.
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®H o Pl AT I TR T T T AU L S 99=Tq drgiei 7 faafoa
ToRam ST

(a)  ShiadT T 60,000, AT T 40,000 T 7Y T 20,000

(b) AT T 50,000, Gl T 1,00,000 TAT TEY T 30,000

(c)  hiadl T 60,000, GidT T 90,000 AT HY T 30,000

(d) faar T 60,000, Ffa@ T 1,00,000 92T 7Y T 20,000

glerdar &1 AT T 9rT TR <h qisT 9 kA o
(a) T 40,000 b) T 70,000
(¢) ¥ 20,000 (d T 10,000

ST AT ST Th BH H HIHGR & AT 2: 1 A H ATHI 1 fadsH
@ § | e B At § % W % o w § waw e T | sted X ot

YT 61 g T SFferaT & qen % W ST | oo | fegar, STgemT an sierd
T T ATH-TIWTSH 3TIHTE T

(a) 3:2:4 (b) 4:3:2

() 2:1:1 d 4:2:3

ot feafiee 3 T 100 v 1w 319, 8 20% Hifeem o frifaa forar m
o1, T 30 Wi T I YW AT q1 T 10 T 37T <l | AT=HT T A
T HE W, FO R (A | gHaH Hod N W 39 31 HI gAAmG TR S
ehdT & :

(a) T 40 (b) T 60

© T20 (d T 100

F AT @ Th HBH § HIBIGR & qAT 7 : 1 A § TH-§TH I [IHSH HLd
d | H JIAh fqaEl & IRY 7 T 12,000 H wh [y wfy w1 S1mE
ToRIT | SR W 6% aTfieh G & SIS YHTRA TohalT ST & | ¥ o o7 § STT&u
W S IR e T Ao gfafse gnft

(a)  SABIUT 9L TSI QIdl 4™ < 1,800

%’ 1 Yol @Il T 1,800
(b) 3B W = @IdT I T 1,800

%’ T FTe] @I T 1,800
(c) & 1 SNt @IaT A Z 1,800

& T ST QT T 1,800
(d) ¥ fafEes @AM T 1,800

SATELOT WSS @Il T 1,800

-~~~ Page 4



67/1/2

The total profits of the firm after adjustment of guaranteed amount will
be distributed between the partners as :

(a) Kavita ¥ 60,000, Savita ¥ 40,000 and Madhu T 20,000

(b) Kavita T 50,000, Savita ¥ 1,00,000 and Madhu ¥ 30,000

(c) Kavita T 60,000, Savita T 90,000 and Madhu ¥ 30,000

(d) Kavita T 60,000, Savita ¥ 1,00,000 and Madhu ¥ 20,000

Savita’s share of profit is short of the guaranteed amount by :
(a) ¥ 40,000 (b) ¥ 70,000
(c) T 20,000 (d) < 10,000

Akshita and Anurag are partners in a firm sharing profits in the ratio of

2 : 1. Akshat is admitted in the firm with % share in profits. Akshat

acquires % of his share from Akshita and % of his share from Anurag.

The new profit sharing ratio of Akshita, Anurag and Akshat will be :
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 d 4:2:3

Zinki Limited forfeited a share of ¥ 100 issued at a premium of 20% for
non-payment of first call of ¥ 30 per share and final call of ¥ 10 per
share. The minimum price at which this share can be reissued is :

(a) T 40 (b) T 60

(c) T 20 (d < 100

‘A’ and ‘B’ were partners in a firm sharing profits and losses in the ratio
of 7 : 1. ‘A’ withdrew a fixed amount of ¥ 12,000 at the beginning of each

quarter. Interest on drawings is charged @ 6% p.a. The journal entry for
charging interest on drawings at the end of the year will be :

(a) Interest on drawings A/c Dr. < 1,800

To A’s Capital A/c < 1,800
(b)  Interest on drawings A/c Dr. T 1,800

To A’s Current A/c < 1,800
(c)  A’s Capital A/c Dr. < 1,800

To Interest on drawings A/c < 1,800
(d)  Profit and Loss Appropriation A/c Dr. ¥ 1,800

To Interest on drawings A/c < 1,800
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(i) O, R AT AR TH BH § WG & qAT 4 : 3 : 1 UG H ATH-FIH I
faurs s 9 | 1 faawr, 2022 1 @ H g 7 TS | R A gy H
fafor =t w0 & et h TUET T 80,000 T TS | W ok ATH o W I
H‘H‘@ﬁﬁmm:

(a) WTH-RIH @Td % W 9§ H T 40,000 3! @] e |

(b) Y- ol @ & M 987 § T 40,000 h Gl Hh |
(¢) ATY-BIH 39fd @id @ 9 & § T 80,000 hl Gl &ieh |

(d) Y- 3T @I & A9 98 H T 40,000 hHT G Hlh |

AT

(i) oo, fiar 91 AfaT T BH H @R 4 q°1 3:2:1 % UM H
ATH-BT T TIHTSH A o | Yol HaTHad 81 T8 3R 3Gh1 9T Hfiar qen
AT g SeR-ateR foram | iar dun SAfar 1 T3 A fawsH

ST B :
(a) 2:1
(b) 7:5
(c) 1:1
d 3:2

FHe (A) : TR Ueh 31d afEfe R |

HRU(R) : wfa wfosy # smferd wnumer ot & 3rfafcs et el &
Trey H T %H i TfdssT 1 97 B |

fafalaa # 9 92t foew =1 =4 hifve

(a) AR (A) FE B, Tg SR (R) Tewd B |
(b)  3THT (A) T 8, Td RO (R) T 7 |
(c) MR (A) q°1 SR (R) aHi T 8 |

(d) AR (A) q°T HRU (R) gHI 79T & |
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(1) P, Q and R were partners in a firm sharing profits and losses in
the ratio of 4 : 3 : 1. P died on 15t September, 2022. On the date of
P’s death, the profits of the firm were calculated as ¥ 80,000. P’s
share of profit will be adjusted by : 1

(a)  Debiting Profit and Loss Account with ¥ 40,000.

(b)  Debiting Profit and Loss Appropriation Account by ¥ 40,000.
(c) Debiting Profit and Loss Suspense Account with ¥ 80,000.
(d)  Debiting Profit and Loss Suspense Account with ¥ 40,000.

OR

(i1))  Pooja, Nita and Anita were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. Pooja retired and her share is taken
up by Nita and Anita equally. The new profit sharing ratio of Nita
and Anita will be : 1

(a) 2:1
(b) T7:5
(c) 1:1
d 3:2

Assertion (A) : Goodwill is a intangible asset.

Reason (R):  Goodwill is the value of the reputation of a firm in respect
of profits expected in future, over and above the normal

profits. 1

Select the correct answer from the following :

(a)  Assertion (A) is correct, but Reason (R) is wrong.
(b)  Assertion (A) is wrong, but Reason (R) is correct.
(¢)  Both Assertion (A) and Reason (R) are correct.
(d)  Both Assertion (A) and Reason (R) are wrong.

~~~~ Page 7 P.T.O.



10.

67/1/2

®H o faeed o gwy fefafgd § 9 ford aeelt @ | geamaia fhar smam? - 1
()  =fey =i % fau yEgE

(i)  ETeR ol R0
(i) 9™ 9=
(v) FId

(@ (1) (Qv)

(b) (D), (i1) 94AT (iv)

(c) (1), (iiil) 99T (iv)

(d) (@), (i) 99T (iii)

A, Toremel U7 3111 U B W HTSIER & U7 2: 3 : 1% 3TJUId H ATl o
o a8 | fomer SaTtea 8 T 9Y g9l e STends SHEiSH,
aRErafEl < G @ CAAI3Ti o YR o UvETd 39eh Yol @Id T I
T 1,20,000 ® | TCfId aUT SR 39 €@ b qUf fue | 3/ T 1,80,000
WA & o f7T ggad &1 e | faema i faraht W wH 6t TAfd § 3He

HIT % : 1
(a) < 1,20,000 (b) T 60,000
(¢) < 30,000 (d) T 15,000

(i) ol fafes 9 T 4,70,000 1 g TREHR=T o T Hed & o6

T 5,00,000 % qUT & 37T 1 fET fRAT | T 30,000 % =9 i Gl
o & T < St | 1
(a) AT, 98 9
(b) it w9, 9 9&
(c)  YSil 9=, ST 9&
(d) E T 9=, ST 98
D]

i) wEu fafes 4 gya fafies & T 12,00,000 1 afEeafat qen
T 4,00,000 T <IATAT HI T 9,00,000 % HT HeF T AR B Hl
FgAfd & | eI I PTAE T 100 TH & 11% FROGHAT 1 10% § T

ot sreep e o | frifia foru TTu sroTast <6 = gl 1
(a) 9,000 (b) 10,000
(¢) 8,000 (d) 11,000
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8. Which of the following will be transferred to Realisation Account at the

time of dissolution of firm ? 1
(1) Provision for Doubtful Debts
(11) Partners’ Loan

(111) General Reserve
(iv)  Goodwill

(a) (1) and (iv)

(b) (1), (ii) and (iv)
(¢) (@), (i) and (iv)
(d) (1), (11) and (1i1)

9. Gurpreet, Vishal and Ananya are partners in a firm sharing profits in the
ratio of 2 : 3 : 1. Vishal retires and the balance in his capital account after

making necessary adjustments on account of reserves, revaluation of
assets and re-assessment of liabilities is ¥ 1,20,000. Gurpreet and

Ananya agreed to pay him ¥ 1,80,000 in full settlement of his claim.

Vishal’s share of goodwill of the firm, on his retirement is : 1
(a) ¥ 1,20,000 (b) ¥ 60,000
(c) T 30,000 (d) ¥ 15,000

10. (D Akshita Ltd. issued fully paid shares of ¥ 5,00,000 in purchase
consideration of net assets of ¥ 4,70,000. The balance of ¥ 30,000
will be to account. 1

(a)  debited, Goodwill
(b)  debited, Capital Reserve
(c) credited, Capital Reserve

(d) credited, General Reserve

OR
(i1) Maira Ltd. took over assets of ¥ 12,00,000 and liabilities of
T 4,00,000 of Subav Ltd. for an agreed purchase consideration of
< 9,00,000. The amount was payable by issue of 11% debentures of
T 100 each at 10% discount. The number of debentures issued will

be : 1
(a) 9,000 (b) 10,000
(c) 8,000 (d) 11,000

67/1/2 ~~~ Page 9 P.T.O.



11. @A) ﬁ%ﬁ%ﬁé@ﬁ%loomésmm%%mwﬁfm%%uﬁ
OIS W foRAT | 9% RUT9T WTd & J9T 9&T ° Qa1 <hl SITaft :

(a) % 1,90,000 (b) = 1,10,000
¢z 2,00,000 (@ = 10,000
AT

i) F=faRea & @ SH-o1 % omeT 22
(a) SRUTYE W SN Ush WK 7, fal=ieq &8 |
(b)  FRUTTH i &g W Frifua foram S TeRar ®
(c)  SRUTHALIT ol dic o T ATTHR & & |
(d) =FoTgEl w3 § uitafaa T8 foram S gehar |

12. 97faa doit 1 98 W i Smiarie & aad § 9TH L o 7o § , e ¢

(a)  Wed gsh
(b)  Arferd it
(c)  gfa i
(d)  fred geft

13. () &0 Qo1 91 U ®H § WIEeR 8 | 31 9T, 2022 %I G g¢ a9 ),
T 3 TS HIE Sk WEW T T 10,000 AT HIE T AR fRAT B
SATET T IS 6% TNk < & JHTHG foham ST o |

31 AT, 2022 %I THIG g ¥ H 41 o ATEOT W S BT

(a) ¥ 3,900 (b) T 325
¢ T 3,600 @ ¥ 3,300
HAYAT

(i)  forem qom MM UH ®H H @SR § | 31 7, 2022 i WA §C 99 H
AR H T fqaTdl & 3=d T T 1,000 T TR0 foham B | AR W

TS shl TUMET <kl 3itEd ety gift -
(a) 6TE (b) 4%‘41_6'
1 1
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11. (@)

(i)

Rohit Limited issued 2,000, 9% Debentures of ¥ 100 each at T 95
per debenture. 9% Debentures account will be credited by :

(a) ¥ 1,90,000 (b) ¥ 1,10,000
e T 2,00,000 (d ¥ 10,000
OR

Which of the following statements is incorrect ?

(a)  Interest on debentures is a charge and not an appropriation.
(b)  Debentures can be issued at discount.

(c) Debentureholders do not have voting rights.

(d) Debentures cannot be converted into shares.

12. That portion of the called-up capital which has been actually received
from the shareholders is called :

(a)
(b)
(c)
(d)

13.

(i)

67/1/2

Paid-up capital
Called-up capital
Reserve capital

Subscribed capital

Hina and Neena are partners in a firm. Neena withdrew ¥ 10,000
per month at the beginning of each month during the year ended
315t March, 2022. Interest on drawings was to be charged @ 6% per
annum.
Interest on Neena’s drawings for the year ended 315t March, 2022
will be :

(a) ¥ 3,900 (b) T 325
@ ¥ 3,600 @ ¥ 3,300
OR

Vibha and Asha are partners in a firm. Asha withdrew ¥ 1,000 at
the end of each quarter during the year ended 315t March, 2022.
Interest on drawings will be calculated for an average period of :

(a) 6 months (b) 4% months

(¢) 7 % months (d) 6% months

~~~~ Page 11 P.T.O.



14.

15.

16.
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i) TH S 9 T 10 T¥F & 400 ;M &1, o9 |W T 8 Ui 3131 anfa
forem o, T 2 wfq 379 T YAW ATEAT URT BT PIAH T H T
H T | 39 ST o BOl W OST YSll @Id o AW 98 § @d
GlTE"ﬁ:

(a) ¥4,000 (b) T 800
(c) T 3,200 (d ¥ 2,000
YT

i) UfRa fafiRs 7 10 9@% & 700 =10 &1 =2 10% Hiftrm w
it fopem mom o, = 5 wfa et (Nftem wfgq) H emeea iy qen
T 3 yfd 731 <l Yom wd AfqH AT ART 1 PIaE T B T EO H
foram | 39 oTeN & BT WSS B @I o ST 9T H @diH] <hl St
(a) % 17,000 (b) % 1,400
(¢) < 4,900 @ 2,100

T AN TET TH BH W EEGER § | I 4 1 JA1s, 2021 I BH H
T 6,00,000 T kU7 {1 | TR I TR T@ &l o1 | 31 ATH, 2022 i

AT R R faeq arel sa bl e TSt 1 geher o
(a) T 36,000 (b) T 18,000
(¢) T 9,000 @ T 27,000
3T, YR qAT AT ASGR 9 q1 3:2:1 % UM H THI 1 [oHTSH
HA ¥ | 1 AT, 2022 HI A BH H EHAIHGD @ T | A H
TarHgfa 1 fafyr w feufa faawor smv-gi @d & 9@ 98 #§ T 1,20,000 H1

Y el @ Ar | IfeHTSr s <" iy Skl AT R 96T 39 Y R gEATall
IERIRSILUIE

(a) ST AT SAMER ok Yol @Al oh AW 98 H GUH ATH-[THSH I H |

(b) A, YR AT AfH™T o IS @Al o AW 9§ § GO Ard-faumeH
U@ H |

(c) T qUT YR o Yot WAl < ST 981 H ¢ AH-FIwTs= gama # |

(d) 3T qAT STYR o ISt @Il o AT & H Ik IAH I H |

-~~~ Page 12



14. () A company forfeited 400 shares of ¥ 10 each, ¥ 8 per share called
up for non-payment of first call of ¥ 2 per share. On forfeiture of

these shares, ‘Share Capital’ account will be debited with : 1
(a) T 4,000 (b) < 800
(c) T 3,200 (d < 2,000

OR

(ii)  Xyle Ltd. forfeited 700 shares of ¥ 10 each issued at a premium of
10% for non-payment of allotment money of I 5 per share
(including premium) and first and final call of ¥ 3 per share. On
forfeiture of these shares, ‘Share Forfeiture Account’ will be

credited with : 1
(a) T 7,000 (b) T 1,400
(c) T 4,900 (d) T 2,100

15. Aman and Chaman are partners in a firm. On 1St July, 2021 Aman
advanced a loan of ¥ 6,00,000 to the firm. There is no partnership deed.

On 315t March, 2022, Aman was entitled to get the following amount as

interest on loan : 1
(a) T 36,000 (b) T 18,000
(c) T 9,000 (d) T 27,000

16. Aman, Aadhar and Avinash were partners and sharing profits in the
ratio of 3 : 2 : 1. Avinash retired from the firm on 15t July, 2022. On the

date of Avinash’s retirement, the Balance Sheet showed a debit balance
of ¥ 1,20,000 in the Profit and Loss Account. For calculating the amount

payable to Avinash, this balance will be transferred : 1

(a)  To the debit side of the capital accounts of Aman and Aadhar in old
profit sharing ratio.

(b) To the debit side of the capital accounts of Aman, Aadhar and
Avinash in old profit sharing ratio.

(c) To the credit side of the capital accounts of Aman and Aadhar in
new profit sharing ratio.

(d) To the credit side of the capital accounts of Aman and Aadhar in
their gaining ratio.

67/1/2 ~~~ Page 13 P.T.O.



17.

18.

19.

67/1/2

HE, T TUT 370 Toh ®H | A19GR o 991 2: 2 : 1 o 37U H 9-gTH
fawia &td 9 | 1 37, 2022 I THT FATHIA & T8 | JIHeA, ST a0
gfea ot anfe et avft THRISET 1 S 6 UvEq AHEE G ST % Yol
@rdl | A T 2,50,000 9T T 2,00,000 HT SHT AN o7 | I8 i foram
5 At U1 TR HI S Bl ek AT AH-faWSH 3G H uRIta fRa
S |

AT TR A AU JTENT hid bl ATGLIh Uoim=1 Tfefeedt i |
3794 [ W Y § el |

S, JUY, THT YT HI=AT TH BH H WIHCR 9 AU 4 : 3 : 2 : 1% FI H
ATY-BT T IS o o | 1 3794, 2022 8 38 AH-8IH &l 5:2:2:1%
g # fowiisa @ 1 Tl foen | 3@ fafy 1 & & @nfa 1 qeamee
T 6,00,000 3T TRIT QAT T&Iehi H AT @99 T 2,00,000 <M TET T |

3Th T % foTu 3Trageres Uskmm=n Sfafsedt T | 3199 SRl & o &9
4 TSy |

(®) 131, 2022 i AT TAT HGG i B i ISl T 1,50,000 7 | F=ifeTa
gl W e shl " G 10% 2 | BH b fEd | T 23,500 B |
AT o i I o T b ATYR W B hl TAT( 6l 0T I |

AL

(@) era e ufcleh T BU U WIEGR & aT 4: 1 o 31Ad H ATH-JTH 1
faursH ot & | 1 31, 2021 1 IR GSt HES: T 1,20,000 G
T 80,000 off | 1 fegwer, 2021 i 38 Fvig fon o6 & 6t a1 g
T 3,00,000 gt o fow 396 g0 2:1 & 3ru@ ® AngH fea
ST |
TR §oi@ % IER, "SGR Hl 6% dMbe @ & Goff | == fea
ST |
31 919, 2022 ! THTE gH It a9 # Yot W for I et s <6y o
HIT |
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17. Mansi, Mona and Amar were partners in a firm sharing profits and losses
in the ratio of 2 : 2 : 1. Mona retired on 15! April, 2022. After making all
adjustments relating to revaluation, goodwill and accumulated profits

etc., the capital accounts of Mansi and Amar showed credit balance of
T 2,560,000 and ¥ 2,00,000 respectively. It was decided to adjust the

capitals of Mansi and Amar in their new profit sharing ratio.

Pass necessary journal entries for bringing in or withdrawal of the
necessary amounts involved. Show your working clearly. 3

18. Isha, Surbhi, Naman and Manya were partners in a firm sharing profits
and losses in the ratio of 4 : 3 : 2 : 1. They decided to share profits and

losses in the ratio of 5 : 2 : 2 : 1 with effect from 15t April, 2022. On this
date, the goodwill of the firm was valued at ¥ 6,00,000 and General

Reserve appeared in the books at ¥ 2,00,000.

Pass necessary journal entries for the above transactions. Show your
workings clearly. 3

19. (a) On 15t April, 2022, the capital of the firm of Ashu and Madhav is
T 1,50,000. The normal rate of return on capital employed is 10%.
Average profits of the firm are ¥ 23,500. Calculate goodwill of the

firm based on three years purchase of super profits. 3

OR

(b)  Rakshit and Malik are partners in a firm sharing profits and losses
in the ratio of 4 : 1. On 15t April, 2021, their capitals were
¥ 1,20,000 and T 80,000 respectively. On 15t December, 2021, they
decided that the total capital of the firm should be ¥ 3,00,000 to be
contributed by them in the ratio of 2 : 1.

According to the partnership deed, interest on capital is allowed to
the partners @ 6% p.a.

Calculate interest on capital to be allowed for the year ending
315t March, 2022. 3
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20.

21.
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(%)

(%)

(@)

T fafiee 3 T 10 9= % 1,00,000 M B 10% HfRE W
Afiem & fore sHar < frifia T | oeget oft smaeT w 2 oft |
3,00,000 311 % I &G UH gY qA NS A Mo forn fop @
STYTIT =l AT IR W 37 T AT H e AT |

g fafteg &1 geasl O Iug® oedl o U oTavss UeHmHE
gfefseat Shifsw |

AYAT

wad fafiees 3 @l fafies ft T 60,00,000 H gfEwta=t qon
T 10,00,000 i AT T 45,00,000 % T oI T T hl TEAM & |
Tl 1 PTaE T 100 IAH & 10% FROGAT Sl 25% Hiftem w Frifaa

hlch foRaT STHT 2T |

Sed fafiee i geasl § ST oAl o fag STEweh  UeHmEHl
gferfseat shifsy |

A fafies 61 stfaespa 45 T 20,00,000 8 ST T 10 SR o GHAT 390 H
fawiforg & 1 o 390,000 37T 6 Frifia v @ foTu 3tees tmtE fohu |
88,000 3= % ¢ 3tmaeA wH gu |t A=A "M o ME qUn ke
4,000 37 W T 3 fd 379 K Y¥H w9 iy IrEn TR W siew o afy
ITH &1 TS | 37 37 hT &1 L foram T |

Sl rfufEm, 2013 1 ST III, 9F I o AR HuAl & fefd
foaTor # “orer §&f I gEIisy |

34t o ToTT @l < Are|’ |t I il |
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20. (a) Annex Ltd. issued 1,00,000 shares of ¥ 10 each at a premium of
10% to the public for subscription. The whole amount was payable
on application. Applications were received for 3,00,000 shares and
the board decided to allot shares to all shareholders on pro-rata
basis.

Pass necessary journal entries for the above transactions in the

books of Annex Ltd. 3

OR

(b)  Shovan Limited took over the assets of ¥ 60,00,000 and liabilities
of ¥ 10,00,000 from Swami Limited for an agreed purchase
consideration of ¥ 45,00,000. The amount was payable by issuing
10% debentures of ¥ 100 each at 25% premium.

Pass necessary journal entries for the above transactions in the
books of Shovan Limited. 3

21. Madhur Ltd. has an authorised capital of ¥ 20,00,000 divided into equity

shares of ¥ 10 each. The company invited applications for issuing

90,000 shares. Applications for 88,000 shares were received. All calls

were made and duly received except the first and final call of ¥ 3 per

share on 4,000 shares. These shares were forfeited.

(a)  Present the ‘Share Capital’ in the Balance Sheet of the company as
per Schedule III, Part I of the Companies Act, 2013.

(b)  Also prepare ‘Notes to Accounts’ for the same. 4
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22, g, <ueh 9T T UH BH § ATEIGR o qAT 2: 2 : 1% UG H ATH-BIH I
foamem vt 9 1 81 |, 2022 it 3w fEufa foawor 1 ywr T o

31 WT™, 2022 i IR, Eides qeT Taita o1 ferta foemo

ISEALS 50,000 | W Td wed 2,10,000
= T 1,00,000 | " 1,90,000
Eal 1,20,000 | ¥Ih 30,000
g A 1,70,000
gdi 1,60,000 fosmA S=fa @ 1,20,000
s 1,50,000
ECiE) 1,40,000 | 450,000
7,20,000 7,20,000

30 S, 2022 I GER I g &1 TS | HBIGR hHI I W AEieH! dor@ 1 e
T YT o

(i)  H I TN 1 oA IS IR dui o 3{d o, st T 1,80,000
%,%2% NI o SHT o STYR T Temam STa |

(i) gcg I Ay qoh A9 QAT BT § G o WRT hl T0MET Toshd o TR
W ol J@h | 31 7, 2022 T GAE B a1d 99 d fosea h ufy
T 4,00,000 off TAT 1 T, 2022 ¥ 30 I 2022 Tk ToRa hT TR
T 1,50,000 ot | 31 e, 2022 ! FHH BT a¥ H @H T 1,00,000
o |

(iii) YN W 7% a1 g & =1 T S |
e o TIsa1Eeht 1 Gidd o T 31 IS0 @ aam i |
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22.  Sudhir, Deepak and Naveen were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. On 315' March, 2022 their Balance Sheet
was as under :

Balance Sheet of Sudhir, Deepak and Naveen as at 315t March, 2022
A t A t
Liabilities 2| Assets i
Creditors 50,000 | Land and Building 2,10,000
General Reserve 1,00,000 | Machinery 1,90,000
Loan 1,20,000 | Stock 30,000
Capitals : Investments 1,70,000
Sudhir 1,60,000 Advertisement Suspense A/c | 1,20,000
Deepak 1,50,000
Naveen 1,40,000 | 4,50,000
7,20,000 7,20,000
Sudhir died on 30t June, 2022. The partnership deed provided for the
following, on the death of a partner :
1) Goodwill of the firm was to be valued at 2% years purchase of
average profits of the previous four years which were ¥ 1,80,000.
(i1))  Sudhir’s share of profit or loss till the date of death was
to be calculated on the basis of sales. Sales for the year
ended 315t March, 2022 amounted to ¥ 4,00,000 and that from
15t April, 2022 to 30t June, 2022 amounted ¥ 1,50,000. The profit
for the year ended 315t March, 2022 was ¥ 1,00,000.
(iii) Interest on capital was to be provided @ 7% p.a.
Prepare Sudhir’s capital account to be rendered to his executors.
67/1/2 ~~~~ Page 19 P.T.O.




23.

67/1/2

SMC TR ST Th BH | ATEGER o qAT 3 : 26 I H ATH-GIH T W
A A | 31 HE, 2022 1 371 et foawor g g o

31 HTH, 2022 h1 ATIEIT AT A=AT9T k1 Teerfar feramor

TER 90,000 | S T ks 20,000
Syt ATfesT 1 O 30,000 | T 24,000
ST T 0T 30,000 | fas 30,000
T T 45,000 | STER 20,000
q\Gﬁ . Yl :‘éiﬁ"ﬂ EUIED
' T y@eg™ 2,000 18,000
et 1,00,000 L DF| 1,00,000
SRIN 97,000 | 1,97,000 | fasa 3=fa @Tan 2,00,000
3,92,000 3,92,000

31 4T, 2022 i fr=AfcRaa srat W w4 &1 foees &

() EE ¥ T 17,000 H FEA §E a4 G H b Ged § 10% Ak

T T 73 |

(i)  ofeer = ol TR o U1 I YA i I ATGT (AT TAT T2h ol

¥ 20,000 & form |

(iii) ST 9 MY o™ 10% ¥ W o T | 3w femn @ T 4,500 61 g

T |

(iv) THERI &1 YT 10% T2 T T feam i |

(v) o 2 T 7,000 9 |

T @Il R HIT |

a2 2o 2o 4
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23. Aadish and Shreyansh were partners in a firm sharing profits and losses
in the ratio of 3 : 2. On 315t March, 2022 their Balance Sheet was as
follows :

Balance Sheet of Aadish and Shreyansh as at 315t March, 2022
A t A t
Liabilities moun Assets moun
< 3T
Creditors 90,000 | Cash at Bank 20,000
Mrs. Aadish’s Loan 30,000 | Stock 24,000
Shreyansh‘s Loan 30,000 | Investments 30,000
General Reserve 45,000 | Debtors 20,000
. Less : Provision for
Capitals : Doubtful Debts, 2,000 18,000
Aadish 1,00,000 Plant 1,00,000
Shreyansh 97,000 | 1,97,000 | Advertisement Suspense
account 2,00,000
3,92,000 3,92,000
The firm was dissolved on 315t March, 2022 on the following terms :
(1) Debtors realised ¥ 17,000 and plant realised 10% more than the
book value.
(ii)  Aadish promised to pay Mrs. Aadish’s loan and took away stock at
< 20,000.
(iii) Shreyansh took away half of the investments at a discount of 10%.
Remaining investments realised ¥ 4,500.
(iv)  Creditors were paid off at a discount of 10%.
(v)  Expenses of realisation amounted to ¥ 7,000.
Prepare Realisation Account.
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(%)

e offeufaet & omll & O @ qARTEA o STawEesh UsHME]

fafseat shifere -

(i) st &t Sit fdfies 3 T 10 985 & 75 310 @, fe T 4 9fd AW
Hiftrm W fifaa fopem o o, ¥ 8 wfa ot (Sfiftem afza) i
JATeTe TR T YIAH 7 i W, &0 R T | T 4 9fd 3791 i
veor Ue fm e iy enft wid T 7w off | wwr fopw T S
H T 15 Tl 37 qUT S g fifia s feam |

(i) e fafies 3 T 50 Ufd 7= % 1,200 390 HI, e T0 oI
o fifa fopem T oM, T 10 Wi o7%1 i AW AT BT YTAH

T W, O R | T " 900 I hl T 45 T T I
yea g Frifa s fean m |

AAAT

gseht fIfiee 9 T 100 I o 30,000 3T I 20% Hiftem @ fifia
H & foTu smeed smmba fpe | ufa o7 afsr w1 ymam =1 yer @
a'q?ﬂ:

A W — T 40 (T 10 Hfrm =fzad)

e W — T 30 (T 10 Hiftem afza)

| AT W — T 30

feefta wa =ifaw e W - 3w
40,000 31 % T &S WG gY AT 35,000 I % IATAGHI ol
AR Ao T T T | AW TelEH! i 3TEThd o feam T |
A W ITed TR G sh1 GHTRIS 3Teed W ¢ Ui O = faan
T |

T, R 700 31T % fofw oTraed fohan o, Areed UMM &1 YTae &
o T®A T@T 3R e oh i U9 S 3TN T 0T L o= T |
39k 91 YW Jr=ET AN TS qAT YW ITEAT W < g Uiy urea &/
T8 | fodia wa ifom e =% |ft T8 |

geeht foafiiees 1 geaehl T I0Yh oAl o ol SImawses  UsHTH=l

gierfsar HifvT |
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24. (a) Pass necessary journal entries for the forfeiture and reissue of
shares in the following cases :

(1) BCG Limited forfeited 75 shares of ¥ 10 each issued at a
premium of ¥ 4 per share for non-payment of allotment
money of ¥ 8 per share (including premium). The first and
final call of ¥ 4 per share was not made. The forfeited
shares were reissued at ¥ 15 per share fully paid.

(i1) Geetika Limited forfeited 1,200 shares of T 50 each issued
at par for non-payment of final call of ¥ 10 per share. Out
of these, 900 shares were reissued at I 45 per share fully
paid-up. 6

OR

(b)  Pushkar Limited invited applications for 30,000 shares of ¥ 100
each at 20% premium. The amount per share was payable as
under :

On application — ¥ 40 (including ¥ 10 premium)
On allotment — ¥ 30 (including ¥ 10 premium)
On first call - ¥ 30

On second and final call — Balance

Applications were received for 40,000 shares and pro-rata
allotment was made to the applicants for 35,000 shares, the
remaining applications being refused.

Excess application money was adjusted towards sums due on
allotment.

Yogesh, who applied for 700 shares, failed to pay the allotment
money and his shares were forfeited immediately after allotment.

First call was made thereafter and all the money due on first call
was received. The second and final call was not made.

Pass necessary journal entries for the above transactions in the
books of Pushkar Limited. 6
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(%) J9 qon X wh wH H WEER & qAT 3 : 1% UMW H AN H
fawrem td 9 1 31 9, 2022 i 3T feafa feawor = g o

31 W, 2022 i & qAT JR 7 fearfa faawon

% Tl'f%[ ﬁ & % TFFS[
Sl T T
A1eR 41,000 | 99 Ug HRAG 60,000
A 9= 80,000 | Wad 40,000
3ed =9 12,000 | = 60,000
g Tieh 50,000

RC| 79,000 LG IALe 38,000

i 48,000 1,27,000 e : i oM

— U gm@eg™ 4,000 34,000
Uhs 16,000
2,60,000 2,60,000

1 31, 2022 1 Iy @ A i W % fu e vdl o oaw @ e A
o fe

(1) I AU Yol qAT 3T HET o BT HHIH & T 4,000 TG
AT |

(i) a1 AT T 68,000 foham T |

(iii) TIF T AR W 10% HeIg™ =T A |
qHcATh @Il a1 |IBIGRI o YSil @I dIR hiT |

AT
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(a)

Yuv and Veer were partners in a firm sharing profits and losses in

the ratio of 3 : 1. Their Balance Sheet as on 315t March, 2022 was

as under :

Balance Sheet of Yuv and Veer as at 315t March, 2022

Liabilities Amount | 4 sets Amount

Creditors 41,000 | Plant and Machinery 60,000

General Reserve 80,000 | Building 40,000

Outstanding Expenses 12,000 | Investments 60,000

Capitals : Stock 50,000
Yuv 79,000 Debtors 38,000

Veer 48,000 | 1,27,000 | Less : Provision for

Doubtful Debts 4,000 34,000

Cash 16,000

2,60,000 2,60,000

They decided to admit Yash in the firm on 15t April, 2022 for

i share in profits on the following terms :

1)

share of goodwill premium in cash.

(ii)

(iii)

Investments were valued at ¥ 68,000.

Plant and Machinery was to be depreciated by 10%.

Prepare Revaluation Accounts and Partners’ Capital Accounts.

OR

a2 2o 2o 4
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(@) 791, STYSHH AT §%I1 Teh HH | ATSIGR 9 QAT 5 : 3 : 29 AJ4Td H
AT T a9 td o | 31 |, 2022 1 31 et faewor

ThlT AT :
31 WT™H, 2022 S AT, AT TUT AT T Feafe fereror
N rlfr e m:;
IEIEERNEHEN 2,20,000 | Ths 1,60,000
a9 1,20,000 | &TeR 1,80,000
| T : Higy R
' T g@g™ 20,000 1,60,000
DIN 6,00,000 ih 2,00,000
IHE  5,00,000 BRIER] 6,00,000
a1 3,00,000 | 14,00,000 | Waq 4,00,000
Uoed 1,20,000
ATH-FIH @ 1,00,000
17,40,000 17,40,000

Ih faafer <l Q@ Sariee & iR e W weEfd g

(i) T HATHgRd W ®H i TG T e T 12,00,000 TR
T |

(i) SAIHE qeT G uiasT § Al 1 f9use 2 3 % AU o
H4T |
(iii) ¥ 40,000 % Ush AfIRgd A-ER ohl oGl fohdT T |

(iv) ¥ 30,000 % TIGRI %l A RO & &4 H JUfGIRgd HL TG
SITE |

(v) 311 hl 3F UM 1 FEAT=aW0T 3Gk K0T @id H L feam T |
®H I TRl H ITYTH TiHCHl oh oI STTaweh U= STafsar Hifu |
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(b)  Reyansh, Aayushman and Sabhya were partners in a firm sharing

profits and losses in the ratio of 5 : 3 : 2. Their Balance Sheet as at

315t March, 2022 was as under :

Balance Sheet of Reyansh, Aayushman and Sabhya as at 315t March, 2022

A t A t
Liabilities m;un Assets m;un
Sundry Creditors 2,20,000 | Cash 1,60,000
General Reserve 1,20,000 | Debtors 1,80,000
Less : Provision for
Capitals : Doubtful Debts 20,000 | 1,60,000
Reyansh 6,00,000 Stock 2,00,000
Aayushman 5,00,000 Machinery 6.00,000
Sabhya 3,00,000 | 14,00,000
Building 4,00,000
Patents 1,20,000
Profit and Loss A/c 1,00,000
17,40,000 17,40,000
Reyansh retired on the above date and it was agreed that :
(i) Goodwill of the firm on Reyansh’s retirement was valued at
< 12,00,000.
(ii))  Aayushman and Sabhya will share future profits in the ratio
of 2 : 3.
(i11) An unrecorded creditor of ¥ 40,000 will be taken into
account.
(iv)  Debtors of T 30,000 will be written off as bad debts.
(v)  Amount payable to Reyansh was to be transferred to his
loan amount.
Pass necessary journal entries for the above transactions in the
books of the firm.
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27.
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R feafiree 1 qeaept o faforRaa oieeAl o fotu swomast & frima @ wefea
3T Vst gfafseat i .

(%) T 100 Y% % 1,000, 9% FOHAT i 5% Y& T it fopam, fme
IMeT 10% SfeEm 9 forar Sma |

(@) T 100 &% & 500, 7% FOGE w1 5% Hfaw w frifia feean, e
e 10% Hifrem o feran s |

([M) T 100 IAF & 2,000, 10% FOGEAT B 5% G R rifa foram, fen
MY THged T fokam S |

TN &
fowea - 1
(foreitar feraott =t fergetaon)

Uehe YaTg Toawur s gag fefafad § 9 -8 aedl ol focha mfaferfemi
& I AT AW

(i)  =Har 370 1 e

(i) TIERI & I Uhe

(iii)  FROTGAT T MG

(iv) ARSI & faeg Jram foham o Uehg
gt faehe w1 ==H HIfST

(a) @

(b) (D) 4AT (i1)

(c) (1) AT (111)

(d) (D), [11) dA (iv)

() T fociia 3em g “grram fohem TR e’ Uekg Yarg faawor sA wm

Frafefaa o @ form nfafafy & r=rta et .
(a) ST Tt
(b) Traw wfafafy
(c) Torcfim nfafafy
(d) QI (b) T (c)
AYAT
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27.

28.

67/1/2

Pass necessary journal entries relating to the issue of debentures in the
books of Akash Ltd. for the following transactions : 6

(a) 1,000, 9% Debentures of ¥ 100 each are issued at 5% discount,
redeemable at a premium of 10%.

(b) 500, 7% Debentures of ¥ 100 each are issued at 5% premium,
redeemable at a premium of 10%.

(c) 2,000, 10% Debentures of T 100 each are issued at 5% discount,
redeemable at par.

PART B
OPTION -1
(Analysis of Financial Statements)

Which of the following transactions are shown under financing activities
while preparing cash flow statement : 1
(1) Issue of Equity Shares

(ii))  Cash Received from Debtors

(iii) Redemption of Debentures

(iv) Cash Paid Against Trade Payables

Choose the correct option :

(a @)

(b) (i) and (ii)

(c) (i) and (iii)

(d (D, (i) and (iv)

(i) ‘Dividend paid’ by a financial enterprise will come under which
kind of activity from the following while preparing cash flow
statement : 1

(a)  Operating Activity
(b)  Investing Activity
(c) Financing Activity
(d)  Both (b) and (c)

OR
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29.

30.
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(i1)

1)

(i1)

o

Teh e 3TM g0 e W grea =ae Uehg JaTg foawon s a9

fafafaa § 9 foem nfafafa & st=wiq s
(a) Toesr nfafafa
(b) fo<ita wiafafe

(c) YT Tidfafer
(d) g (b) AT (c)

fr=fafaa @ @ =l9-a gt @& 2

(a) TN 9 3ANH shl AN = JoTed 8 3T + Hehed oTH

(b) TETEH ® AWM hl ANA = RIS Wik — g T + TIH =
— 3ifam i

(¢) IS ® 3 sl AT = AR T2ieh + ATqH i

(d) YETEE 9 I hHl AN = T 8 ANH — Tl oTd

HAAAT
FafafRaa 4 9 - oy foaon & foveww =1 & Iushu/aden
3
i)  Uhg JaTE foremor

(i) - Teraro
(iii) @Tal = AeH
Gv) Teufa faewo

&l faereq &1 =3H HIfST
(a) @

(b) (@) IR (i)

(c) (i)

d @), (i) 3R (v)

(a)
(c)

ffTRad = 9 TaTfied Hiv 3 -

1ol THEH T T 20,00,000

-] witrratat ¥ 40,00,000

HepTela 3R T 25,00,000

EHTHed 31T 25%

Z 10,00,000 (b) ¥ 14,00,000
T 24,00,000 (d ¥ 15,00,000
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(i1)

29. (@)

(i1)

‘Interest received on investments’ will come under which type of
activity from the following, while preparing cash flow statement of
a non-financial enterprise :

(a) Investing Activity
(b)  Financing Activity
(c) Operating Activity
(d)  Both (b) and (c)

Which of the following equations is correct :

(a) Cost of Revenue from Operations = Revenue from
Operations + Gross Profit

(b)  Cost of Revenue from Operations = Opening Inventory — Net
Purchases + Direct Expenses — Closing Inventory

(c) Cost of Revenue from Operations = Opening Inventory +
Closing Inventory

(d)  Cost of Revenue from Operations = Revenue from Operations
— Gross Profit

OR
Which of the following is a tool of Analysis of Financial
Statements :
(1) Cash Flow Statement
(i1)  Statement of Profit and Loss
(i11)) Notes to Accounts
(iv) Balance Sheet
Choose the correct option :
(a @
(b) () and (ii)
(c) (i1
(d) (@), (1) and (v)

30. From the following information, the ‘Proprietor’s funds’ are :

(a)
(c)

67/1/2

Current Assets < 20,00,000
Non-Current Assets < 40,00,000

Long Term Borrowings T 25,00,000
Proprietary Ratio 25%

< 10,00,000 (b) ¥ 14,00,000
T 24,00,000 (d) < 15,00,000

~~~~ Page 31 P.T.O.



31. Ut JAufEm, 2013 6 I IIL, 90T 1 % JIER HHfaRad Al sl Ut
% feuf foewor o g7 sfivehl qen Su-sfiveri # (IfC HIg &) & =i afieha
T : 3
(%) o amm

(@) @I ISR
(M) A AR

32. S9 Ul ! TUHT SHAEM hl AR NUHASHAT HT HIGT B fAC H
STt B 17 3UTdl < ygae hifsre qur 3w ooft § aftiferd g Ul % g
HI IgQ T | 3

o

33. () TrfcRad = @ 9ohat A9 ST i TUMET HIFT 4

They (E2Teh CICK AT @ 6 T[T
3Id ThY (Vi) : T 4,00,000
AT <t forshl T W 25% < W HI TR

AT

(i) TH HEA H AL A 2 0 18 | HRU qd g Ieoi@ I o
ffefiad THGHT § 98 31U 9, M AT $9H I3 qNaaq ol 8l @ 4

(a) T 40,000 o HTA hl YT HI
(b) T 2,000 B W T 8,000 h =X <hl fershl
() SAMRIS ¥ T 15,000 shl Ushg WTfea

@ ¥ 6,00,000 % FHAT 37 HT FFE
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32.

33.
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Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 : 3

(a) Unclaimed Dividend
(b)  Mining Rights

(¢) Loose Tools

‘These ratios are calculated to measure the short-term solvency of the

business.” Identify the ratios and state the significance of two ratios

included in the above category. 3
(i) Calculate Gross Profit Ratio from the following information : 4
Inventory Turnover Ratio : 6 times
Average Inventory . ¥ 4,00,000

Goods are sold at a profit of 25% on cost
OR

(ii)) The Current Ratio of a company is 2 : 1. State giving reasons,
which of the following transactions would improve, reduce or not

change the ratio : 4
(a)  Purchased goods on credit ¥ 40,000

(b)  Sale of furniture of ¥ 8,000 at a loss of T 2,000

(c) Cash received from trade receivables T 15,000

(d)  Issued equity shares ¥ 6,00,000
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34. fafafiea weufes @@ 1 ufeu don SEes sMyr W few U ywEi & I
S
2011 # 3 JaT WRAT JAET, demelt Wi qen foae wifean 4 w3t
Tl I ITEY hid 1 Ui o= | 30 a9 99§ s 9q@ faare! 98 o
3N IBH 39 HHT I U HE P FTH @I | 8- Teh ITANERal HAqul
SeETSe T HIASA T 1 T foharm odeh g0 Swehaieti o fofu orq@e™
b HR GUeAT JAEHE & T | 2018 H 30 R ot fAMHeS HFat § gidfad
L T |
31 |, 2022 ! AT & Fefalgd feafa foawor @ ‘s nfafafest @ tes
TaTg <hl TUET HIFY |
31 W, 2022 ! ‘&R gt forfiree’ =1 feafa feremon
r— :ﬁz 31.3.2022 31.3.2021
3. T T
I - |HAT TS qFaTy
1.  IIUWh SN
(%) 3w g 9,00,000 3,00,000
(@) =g W@ AT 1 75,000 3,60,000
2. IR A
R TR 2 2.,40,000 1,80,000
3. e A
(%) SAYR 18,000 60,000
(@) A Iaeg™ 3 2,04,000 2,10,000
E3 14,37,000 11,10,000
II - afeErataat
1. TR=re] ahewafr
Toeft ufgmfat 4 10,08,000 5,76,000
2. =T REwfEt
(%) ik 3,54,000 3,87,000
(@) Uehs TF Uhs TA 75,000 1,47,000
E3 14,37,000 11,10,000
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Read the following hypothetical text and answer the given questions on

the basis of the same.

In 2011, two young Indian entrepreneurs, Vaishali Bhatia and Vivek
Bhatia decided to start an online auto portal. At that time, there were no
major players in the market and they saw an opportunity to fill the gap.
They used a user-friendly website and mobile app which made it easy for
users to research and buy cars. It was converted into a company ‘Car

Easy Ltd.” in 2018.

From the following Balance Sheet of the company as on 315t March, 2022,
calculate ‘Cash Flows From Operating Activities’.

Balance Sheet of ‘Car Easy Ltd’ as at 315t March, 2022

Particulars Note | 31.3.2022 | 31.3.2021
No. T T
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 9,00,000 3,00,000
(b) Reserves and Surplus 1 75,000 3,60,000
2. Non-Current Liabilities
Long-term Borrowings 2 2,40,000 1,80,000
3. Current Liabilities
(a) Trade Payables 18,000 60,000
(b) Short-term Provisions 3 2,04,000 2,10,000
Total 14,37,000 | 11,10,000
II - Assets :
1. Non-Current Assets
Fixed Assets 4 10,08,000 5,76,000
2. Current Assets
(a) Inventories 3,54,000 3,87,000
(b) Cash and Cash
Equivalents 75,000 1,47,000
Total 14,37,000 | 11,10,000
~a~
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qre 31.3.2022 | 31.3.2021
g. A T T
1 | 9= Ug 3niee
TRy 37T eNy-gTi faraor =1 9 75,000 3,60,000
75,000 3,60,000
2 | ErHehIela 39N
10% 09 2,40,000 1,80,000
2,40,000 1,80,000
3 | AYhIAE Tra9™
EZ@ICRIE] 2,04,000 2,10,000
2,04,000 2,10,000
4 | Tl gfetaat
ENIET] 11,52,000 6,45,000
gfad qeag (1,44,000) (69,000)
HA 10,08,000 5,76,000
SR GrT :

1)  10% o9t o1 e 81 |, 2021 i fomam T |
(i) ¥ % GH T 80,000 T HT YTAH R T |

CILRC]
ferrew - 11
(stfrRTor TrETe)
27. (1) TG qAT AT h TR H AT T B oh [T A@IRA AT 39 Al
3= YA © ST B3 Bl &, hl 7 2 :
(a) ﬁ%gﬁlaﬁﬁ ERGE]
(b)  =¥F W U

(c)  WId I9qT
(d) 3Ifam @rd 3udA

Jrorat
(i) Y HAfhgl hi fhEt ST ATHSl ¥ T FT hI AfhAT FHaed! 2 :
(a)  @ATehg Jefiemtur (b)  Hiepgl wfaf®
(c) T AThe (d) VS 3ihe
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Notes to Accounts :

Note Particulars 31.3.2022 | 31.3.2021
No. < T
1 Reserve and Surplus
Surplus i.e. Balance in Statement of
Profit and Loss 75,000 3,60,000
75,000 3,60,000
2 Long-term Borrowings
10% Debentures 2,40,000 1,80,000
2,40,000 1,80,000
3 Short-term Provisions
Provision for Tax 2,04,000 2,10,000
2,04,000 2,10,000
4 | Fixed Assets
Machinery 11,52,000 6,45,000
Accumulated Depreciation (1,44,000) (69,000)
Total 10,08,000 5,76,000

Additional Information :

(1)
(i1)

(1)

(i1)

PART B
OPTION -11

10% Debentures were issued on 315t March, 2021.
Tax of ¥ 80,000 was paid during the year.

(Computerised Accounting)

The name of accounting information sub-system which is linked
with other sub-systems for obtaining information about cost and
expenses is :
(a) Cash and Bank sub-system
(b)  Expense Accounting sub-system
(c) Costing sub-system
(d)  Final Accounts sub-system

OR
The process of comparing input data with some unknown data is
called :

(a) Data validation (b) Data entry
(c) Information data (d)  Storage data
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e faft @l @ dfud tirst o T SR § YA foham Sar g, df 98
HEATT B :
(a)  STEdldeh THI ThAU
(b)  GHZE UshHU
(¢)  3ATehgl Aefierto
(d)  TshHOT qeT - deffeRtu
Tsh RN AR STeraT B i TROMH S § -
(a)  =gcud/9Ted Hod (b)  HAHd I
(c) To&T qoA d & e
(i)  HIfShehIM i TTavrehal Bidl B :
(a) I Higd i Icdrd o oI |
(b)  @ral, Sfdeedi, 3nfe =l gefard WA @ o |
(c)  3AThel ol MiUd W (TARHSM) & U |
(d)  3Mhsl o IEH Uishavl & foru, 3fuq fiepie wae & o |
T
(i) & W@ el i HEAT 98 HH Bl @ AT AR FHAT S5d
At Bl 8, 39 e & fow F=fafad 8 § SI9-91 Aieeads) Uehs
Wﬂ?ﬁ@‘ﬂ% :
(a) Tafwre
(b) I % AR (ITE)
(c)  aHi forferE wa erd
(d) GE=
w3719, 7. 31.37E.Th. (COUNTIF) %o ! 9Hemsy |
‘T TRt qem ‘grer JTheI YeGl i FHEATST |
(F) ‘oAlheT TWEIM FT 3 ? U fQU MU 31The ol TEUT i o AT foha

IR ohT JATT TohaT ST 3 2 IHLATST |
YT

(@) @ ATFTT o TS ST hi T FET |

T a9 & TAE qoF 1 FA1 7Y 7 ? EhI AT H GERIAl HE arel foxi™
®A I THATRY |
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When the accumulated data from various sources is processed in one

shot, it is called :

(a)  Real-time processing

(b)  Batch processing

(c) Data validation

(d)  Processing and Revalidation

The outcome of an arithmetic expression or function is called :

(a) Derived Value (b) Basic Value
(¢) Vertical Value (d) Horizontal Value
(1) The need of codification is for :

(a)  The generation of mnemonic codes.

(b)  To secure accounts, reports, etc.

(c) The encryption of data.

(d) Easy to process data, keeping proper records.

OR

(ii))  Which of the following software packages is suitable for an
organisation where the volume of accounting transactions is very
small and adaptability is very high :

(a)  Specific

(b)  Tailored

(c) Specific and tailored both
(d)  Generic

Explain ‘COUNTIF’ function.

Explain the terms ‘Password Security’ and ‘Data Audit’.

(a) What is ‘data formatting’ ? What tools are used to format a given
data ? Explain.
OR

(b)  List eight uses of accounting software.

What is meant by ‘Present Value’ of an investment ? Explain the

financial function which helps in its calculation.
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